Part # FE113
GSXR600/750 08-10

control . drive

Fender Eliminator Kit Contents

Description Quantity
Fender Brackets 1
6x16 Bolt 4
6X15mm Washer 8
6X12mm Washer 6
6MM Lock Nuts 6

Remove Rider and Rear Seats.

Remove right side rear body work by removing (4) push clips and (1) Phillips screw.
Disconnect license plate light wire.

Remove factory fender by removing (4) 6MM hex flange bolts from under tail.

Mount the “VORTEX Fender Eliminator Kit” by loosely installing the (4) supplied 6mm bolts
and 6X15mm washers. (Do not tighten at this time)

Mount plate bracket using (2) supplied 6mm button head bolts, (2) 6X12mm washers and
locknuts.

Center plate and brackets to tail section and tighten the (2) 6mm plate brackets bolts and (4)
6mm mounting bracket bolts.

Connect License Plate light (not included) wire and check for proper function.
Reinstall body work.

Remaining hardware to be used for mounting license plate.

Use blue thread lock to secure bolts. Refer to owner’s manual for proper torques.




